(Busnois/Caron)

7]
>
Cr
33
P
28
Ec
— 2
nD
O
@)

&
n o T
.
S =
o.lll
w
> 5 1 | |
“ 2 %
2
e E %
|5
1 O nE
+or o -
s |
fmn I B lfam T
S p — S
= 5 5
(0]
o = o
S £
wn c
o)
@)

voul

ie

quant

pa

et

droi

mour

1€

quant

dis

-ra

M |E ]engraved Wifh(Veroyio



roi

roi

ne Sca

plus

hai

Sou

tier

MIE lengraved Wifh(Verovio



N

mes

mon

de

vrer

ou

non

Se

ARE
¢ 3
2 = &
L %
%
1 L
muLd
S
o | -2 H
||.’ .
o.l 4
1]].A —
|||.0 -
| )
I HU+H

=

ie pour roi

quant

fois

V)

—

M |E ]engraved Wifh(Veroyio



M |E ]engraved Wifh(Veroyio



